Kinn

EctAE {4 O8l, AEE &S B 712E HEY 0 £
X7} 9= AEl £E2 AHQIH|A OIHIA Z2 T
&2 M%/HE ol0lx]

&3

THE:

AR T

o= B Est XMal:
- S=58.
AE[QlEA AR T
Ha= 3=t Al
LA £ 2[E 1.4305.
&3 £ 1.4034.

il

od 2= O
Ik

l, Zst=lx| ek &
&2l 1.4305.
I

oA O o

AE[QlEA AR T

T2 33 ot 2 £33

2T Zsh ook 2 B3R S

e

Qe A ZHX = 5H 2lof 28t &3 x|
HEE YxIaHoF sh= RO ALHSE.
HMEEE +SCEEFHOE XS
X2 ol = US

= .
H=E 2EE Z0|7| el 237 2 AME
B2 = US. UH S HAZS £ E
otzHoll M oM & Eo| &R 2
MURTF F

AL

S5 A A,
UNIM2]:

AT O|M B KO665.
ofe Hx o oI5t 1X M|E K2146.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
=ZalAEI] A3 X XL 1T olT] =
ZaAE] BAS O8, IIE A3 B H2E LS D S
o{i= AEISS A cll A =
K71 9= AE =2 AH|Ql2A OlHA Eal_.lx-l
=N
P | '
=
| I Sw
~J
T
-~ .
D -0,02 *
—0 04
E= Q0
=2 Ha  5Y  EA MY EH D D1 D2 L L1 L2 AEE3 SW Fx30° AE &4 FEHE
7|2 = S ERE E2 A7 QoM
F12 N F2 2. N
K0633.22903 H AR a3t 3 M6x0,75 14 33 17 11 5 10 0,8 4.5 12 K0344.99
K0633.22004 H AEl Ast 4 M8x1 18 40,521 135 6 13 1 6 15 K0344.90
K0633.22105 H AE a3t 5 M10x1 21 46,524 14,5 8 17 1,3 5 16 K0344.91
K0633.22206 H AR a3t 6 M12x1,5 25 54,7 28 17,7 9 19 1,8 6 18 K0344.92
K0633.22308 H AES a3t 8 M16x1,5 33 72 36 24 12 24 2,3 15 45 K0344.93
K0633.22410 H AR ast 10 M20x1,5 33 79 40 24 15 30 2,8 15 43 K0344.94
K0633.22412 H AR a3t 12 M20x1,5 33 84 42 24 18 30 2,8 15 51 K0344.94
K0633.22516 H AEl Zdst 16 M24x2 40 104 50 30 24 36 32 20 50 K0344.95
K0633.202903 H AEHQlPA A& ast 3 M6x0,75 14 33 17 11 5 10 0,8 4.5 12 K0344.99
K0633.202004 H AEHQIYA A& a3t 4 M8x1 18 40,521 13,5 6 13 1 6 15 K0344.90
K0633.202105 H AEQlFA AL a3t 5 M10x1 21 46,524 14,5 8 17 1,3 5 16 K0344.91
K0633.202206 H AHQIYA A& ast 6 M12x1,5 25 54,7 28 17,7 9 19 1,8 6 18 K0344.92

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
SajAE| WA Ogl, EE A2 Ei FH2E LET 90 S
X7} gi= 2B E2 Al A oIHIA ZRK
Z=5 29

EEEESD PPN ES| EH D D1 D2 L L1 L2 AEE3 SW Fx30° A& Bt TE s

712 S| S EbAM E2  AFR QM
F1 2 N F2 2. N

K0633.202308 H AE[CIFA AE 23 8 M16x1,5 33 72 36 24 12 24 23 15 45 K0344.93
K0633.202410 H AHIQIEA AE Z& 10 M20x1,5 33 79 40 24 15 30 28 15 43 K0344.94
K0633.202412 H AHIQIFA AR Zs 12 M20x1,5 33 84 42 24 18 30 28 15 51 K0344.94
K0633.202516 H AHIQIFA AE Zs 16 M24x2 40 104 50 30 24 36 32 20 50 K0344.95
K0633.212903 H AHIQlEA AR H|ZES 3 M6x0,75 14 33 17 11 5 10 0,8 45 12 K0344.99
K0633.212004 H AHIQlEIA AR H[ZS 4 M8x1 18 40,521 13,5 6 13 1 6 15 K0344.90
K0633.212105 H AHIQIBIA ARl H|AS 5 M10x1 21 46,524 14,5 8 17 1,3 5 16 K0344.91
K0633.212206 H AHIRlElA AR H|ZE 6 M12x1,5 25 54,7 28 17,7 9 19 1.8 6 18 K0344.92
K0633.212308 H AH[QIBA AR H|AS 8 M16x1,5 33 72 36 24 12 24 23 15 45 K0344.93
K0633.212410 H AH[QIBIA A8 H|AS 10 M20x1,5 33 79 40 24 15 30 28 15 43 K0344.94
K0633.212412 H AHIQIBA AEl  H|AS 12 M20x1,5 33 84 42 24 18 30 28 15 51 K0344.94
K0633.212516 H AH[QIBIA AR H|AS 16 M24x2 40 104 50 30 24 36 32 20 50 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



